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T (i) Name the devisor of colon classification scheme. e FW 8 A TY I A WA &, TAF A 8 3iFH FH B SR
n%ﬂ%‘%ﬂuﬁqﬂ%mﬂa@ g&ﬂmﬂﬂmﬂdmﬂwhmﬁﬂ%ﬂmg%wwﬁ%ﬂd_
T T $ Ul F Il FaHad 200 g=f H SR B

(i) Name the fundamental categories of Ranganathan. : \
2. Discuss various types of common isolates in Colon

T 8/ egd g APE & 9 qadsy
i} Wenition ¢ biecti £ lib |assificat classification with examples.
i) Mention two objectives of library classification.
fafarg wieeor 3w CEAl % R P TEe died =
JETHd FHT & A 35a3d TRl
B L
(iv) Mention any five notational symbols used in colon. " : 3 _ ; Ao
ks oo ; : escribe qualities of good notation.
Fafirg T T B T e i AR B AR Sabnis .
. R 3B FFT B N FH faera FaET
(v) Mention types of added entries in CCC ; {asit
4. Mention steps of practice classification.
A § v TR 3 s A e
AT REReT % QIEl H A gyl

(vi) Mention standard size of catalogue card.
THl 9% B S A9 g

(vii) Mention sections of main entry for periodical
publications in AACR.
TUHL.SR. § H9s JHee 3 J&F SRt 3 og=e

5.  Discuss about time isolate used in CC and DDC.
fefarg aifeer vaft wd g8 avmad aieee 3 WgT 9 O
3 I ¥ AR

6. Discuss the need and importance of library catalogue.

gEiwed Gl S SEEHT @ Jed Sl

ERIEM
(o sl p——— s ol " T Define pseudonymous author. How it is rendered in CCC?
vill) Mention about the Information included in 'imprint'. =
. MOy dgE @ e few @A § 3| $9 IuEaa
TR fqEer e e @ Srad et
: fépar s &7
Section-B . .
- 8. Discuss the need and forms of centralised cataloguing.
(Short Answer Questions) %.I«Jﬁmmm aﬂﬁﬂ.ﬂ = 3
T SR T HpIT €dz0l
am ) i isad f card catal
Note: contains 8 very short answer type question, each having 8 9. Discuss advantages and disadvantages of card catalogue.
marks. you have to answer any 4 questions. The section T G S A-e e
has a total weightage of 32 marks. The answer of each Section-C
question in this section should be written in 200 words. (Long Answer Questions)
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